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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.

(i) Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iit) Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 85 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case /Source-based questions with three
sub-questions. Each question carries 4 marks.

(viit) Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)
1. By which organization is the Human Development Report published ? 1

(A)  World Trade Organisation
(B) Amnesty International
(C)  United Nations Development Programme

(D)  World Health Organisation
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2. fowm it vgmm HifSw |
(A) g soed fafies
(B) 9T wed fefues
(C) fTegwam gfieftan fafiee

(D) WA gt gaifoeanew fafies

3. T v Y qfd & foTu @&t foepew o1 = N

ST AT Toresft SR 31T faeT Ut STatraent bl ger shi Ifshar FAMY
ST ST R |

freew :

(A) AT R

(B) FE@#

(C) QIR

(D) 3R

4. =@ wue fau T E | T iR (A) 3T RO (R) € | ST SRYET SR UieT 3

TR forehed T =9 HINT

HNFIT (A) : ¥RA H AR I8 IANT G a1 o ¢ T Th TRl F@ar §
Fafkrd g |

RO (R) ;WA UE 1 qHU wgl Frrfaeh 2 |

Trerew :

(A) (A 3R (R) 3HI & & 3R (R), (A) I G A7 |

(B) (A) ¥R (R) 3HI €&l 8, W (R), (A) I Gl AT 8T © |
(C) (A ®Ee, wq (R) T & |

(D) (A Taq 8, " (R) @a&lg |
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2. Identify the odd one out. 1
(A) Hindustan Computers Limited
(B)  Bharti Airtel Limited
(C) Hindustan Unilever Limited
(D) Bharat Heavy Electricals Limited

3. Choose the correct option to fill in the blank : 1

The process of removing barriers on foreign trade and investment by the

government is known as
Options :

(A) Import Tax

(B)  Export Tax

(C) Liberalisation

(D) Industrialisation

4, Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option : 1

Assertion (A) : Most of the jute industry in India is located in a narrow
belt along the banks of Hugli river.

Reason (R) : India is the second largest exporter of jute.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.
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5. W9 I % &9 11 ¥ e fifse it a&t faehew w1 == hifse
o9 I &y 11
a. IR IS qgIfoer i IS
b. #WE o e . TSR
c. UfEm e fise iii. 3™
d. e AT 3TH iv. &
frerew :

(A)  a-i, b-ii, c-iii, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iv, b-i, c-iii, d-ii
(D)  a-ii, b-i, c-iv, d-iii
6.  fiwdl HifehT, 7o URER % @TY, S % IHS I WH Fh IW T AU TR

% M- % AT 3 I 31T W WHS ST ¥ | 99 JaT i ST HH &
St 8, a1 98 Y % o oft 1 qew gher TR et ® | 98 Fefafed § @

iy ¥ e fafdr o1 3w et 2 2
(A) U HY
(B) o 3T q& i
(C) & Sfifereht iy
(D)  aferSae iy
7. WicTedl Ydreal % IS H TR STARY % il 4 ST w0 A foswr
amt e R 2
(A) & (B) ==r%
(C) diferm (D) wait@r
8.  SHMAT FUF % Had H TR W fudt Sk st et fefafed § 8 fewe
Tdfieh oft ?
(A) eI e
(B)  SETgdr 3R wrieh oAt
(C)  ifa <t =g Y

(D) Tk T o GAUT
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5. Match Column I with Column IT and choose the correct option : 1
Column I Column I1
a. Sariska Wildlife Sanctuary i. Uttarakhand
b. Manas Tiger Reserve ii. Rajasthan
c. Periyar Tiger Reserve iii. Assam
d. Corbett National Park iv. Kerala
Options:
(A)  a-i, b-ii, c-iii, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iv, b-i, c-iii, d-ii
(D)  a-ii, b-i, c-iv, d-iii
6. Mrs. Monica, along with her family, clears a piece of land and grows
grain and other food crops to feed her family. When the soil’s fertility
decreases, she prepares another piece of land for agriculture. Which of
the following methods of agriculture does she use ? 1
(A) Plantation farming
(B) Slash and burn farming
(C) Intensive subsistence farming
(D) Commercial farming
7. The germs of which disease paved the way for Europe’s conquest of
America in the later half of the sixteenth century ? 1
(A)  Cholera (B)  Smallpox
(C) Jaundice (D) Malaria
8. In reference to the Germania allegory the “olive branch around the
sword” symbolizes which one of the following ? 1

(A) Being freed
(B) Heroism and strength

(C)  Willingness to make peace

(D) Beginning of a new era
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9. fmafafas & & forer T &1 Gey 1t TeR fode | 7 2
A) TegEm
(B) i UehT
©) Ry
(D) H&Ed

10. FAfIRad et HeTell i HIAFATER AT Hieg X e foshed
IIq Eﬁﬁﬂ'{ :
I. SRS gcamg
II. (e 9w
III. <YNY GcdUE
IV. Wl gamig

frerea :

A  LILIIL IV
(B) HIOLILIV
©C) I LIV, III
(b)) MHOLIV,III

11.  3TY=ieE &5 & RO 4T 7 AEH Tl & ? FHfRad sron o ufgu 31 gee

SR forehed T =9 I

I.  Sopl T SUSTsEAr

II.  ZROUTYR s SqasHdr

III.  ROT shl sl Ue STfeet Ufsham
IV.  =ume &t Smreehar
IECTG I

(A)  FHad I, I I wE )
(B) @aa I, III 3R IV |t g
(C) Faa L, Il RIV T
(D) A I, III IV TE 8|
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9. Which among the following newspapers is related to Bal Gangadhar
Tilak ? 1
(A) Hindustan
(B) Bangla Patrika
(C) Veer Bhoomi
(D) Kesari

10. Arrange the following historical events in chronological order and choose
the correct option : 1

I Bardoli Satyagraha

I1. Rowlatt Satyagraha

III. Champaran Satyagraha
IV. Kheda Satyagraha
Options:

A LILIIL IV

(B) IOLILILIV

(C) ILILIV,II

(D) ILIV,ILI

11. Why is it not easy to get loans from the formal sector ? Read the following
reasons and choose the most appropriate option : 1

I Availability of Banks

I1. Availability of Collateral

III. Long and Complicated Loan Process
IV.  Awareness of Borrower

Options :

(A)  Only I, II and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Only I, II and IV are correct.

(D)  Only I, IIT and IV are correct.
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12. f=faRed fomvaren & smar w &5 it teu FifSw IR ot fawes &1 ==F
s :

. T &k T 32T ATH AT FAT BT R |

. TH &5k T LATTHcel Ueh oH{eh AT hu= sh BT T BT § |

o 2TeT A T T 39 &5 T 32012 |

IECTG I

(A) UEHRT &TF (B) STEIST &bk
(C) GTeSIe &h (D) f=ft &

13. = U% s < A el e fou MU § | 39 SATeel 1 AeRA FifNT 3

3o il fou T 5% 1 S fAfa
1 Fol SHEET] | e ufkafd
7 T 8 1Y T 3T 1200 1000
14 TT 15 99 3t 1Y 1000 800
A 2200 1800
T A% 14 TAT 15 ¥ o 31 11 61 Uit wfrera 2l
(A) 90 Hfeerd (B) 80 uferera
(C) 70 whaera (D) 60 Shaera

14. A= S s oy U € | A ARRAT (A) AR HROT (R) & | ST hUAT I qiey 3

e foshe 1 = HifST

SYFIT (A) : A Tedsh & bl TS STTANT oh UTE USTIohLoT HEMT Bl ¢ |
FRO(R) ;WG H gt Tk el shl SR TS forg Je it @ |
ferepeT

(A) (A 3R (R) 3HI & & 3R (R), (A) I 98 A7 |

(B) (A) 3R (R) 3HI €&l 8, W (R), (A) I Gl AT 787 © |
(C) (A ®Ee, wq (R) T2 |

(D) (A Taq 8, " (R) T&l2 |
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12. Identify the sector on basis of the following characteristics and choose the
correct option : 1
. The objective of this sector is to earn profit.
. This sector is owned by a person or company.
o Tata Iron and Steel is a example of this sector.
Options:
(A)  Cooperative Sector (B)  Unorganised Sector
(C)  Public Sector (D)  Private Sector

13. Data related to an imaginary country is given below. Study these data

and answer the question that follows : 1
Age Total Population | Net Attendance
7 and 8 years of age 1200 1000
14 and 15 years of age 1000 800
Total 2200 1800
The attendance percentage of this country of the age group of 14 and
15 years is .
(A) 90 percent (B) 80 percent
(C) 170 percent (D) 60 percent

14. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option : 1

Assertion (A) : Every party in India has to register with the Election
Commission.

Reason (R) : The Government provides election symbols to all political

parties in India.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C)  (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.

I 32/3/2 Page 11 of 23 P.T.O. I



16.

17.

18.

19.

20.

frefafaa & & SF-a1 wg Hficis § JgueTs 8 ?

(A)  dfHe-wTet (B) THgefl-vreft
(C)  dT-wTet (D) M-l

W o1 Gl saareelT § gUr & TsiHIfdeh ot bl fmfafad 3 @ #9-8 %l e
AT o o T R 2 el UG forehed i = hifST |

I 319 il oifes ol o forg et fie i <t eafSamiar & |

II. o7 ot gaft & ueh-forers ufear gewt i stfamiar g |

L 37 aft Trftfen aalt o o aimefes SAme e i sTfamiar & |

IV. 19 I9Y-9 g Tt SEfiean sl =™ § <t W@ ATHal sl STHehRT 3 3t

Frfariar 8T |
foreprea .
(A)  FHad I, 11 3R III T § )| (B) Faa L, IIIIV TEE|
(C) wad I, III IV TET & | (D) Faa 1L, 111 IV T8 |

frafafaa & @ wH-a1 we Al aumar & Jeiid war & ?
(A) ST o 7l 1 Hod TeNT o 7a o 7T ¥ AT 8T |
(B)  TfEATsT ol o o HTIT ek HHTHT T |

(C) ol ol 3Afereh SARIHR & AT |

(D) &I TS AISATSAT Sl G HATTHeH S&T LT |

frafafea & & wet gafaa 3@ &1 =  Hf

A)  wwadiEEt - e

(B) wmadig=t — widwen

© wwEdtER - R

(D) FHad gl — =ATR

WA st Fefaad & & forer 3 o AT ATEw 1 AW o W E ?

(A) TR (B) foumuime

(C) TSTEIT (D)  —ITUTIASRT
frfafad & & SH-8 o IRt daam fit et syt § i 2 2
(A) ANl B) wTh

(C) TSI (D) dfbe
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15. Which of the following group is in majority in Sri Lanka ? 1
(A) Tamil-speakers (B) Sinhala-speakers
(C)  Telugu-speakers (D) English-speakers
16. To reform the party system, which of the following tasks have been made
compulsory for the political parties ? Choose the most appropriate option. 1
I. It is now compulsory for all the political parties to file income tax
returns.
I1. It is now compulsory for all parties to have one-third women
candidates.

III. It is now compulsory for all the political parties to hold their
organisational election.

IV. It is now compulsory for all candidates to disclose information
about pending criminal cases against them through affidavit.

Options:
(A)  Only I, II and III are correct. (B) Only I, IT and IV are correct.
(C)  Only I, III and IV are correct. (D) Only II, III and IV are correct.

17.  Which of the following statements represent gender equality ? 1
(A)  The value of women’s vote is more than that of men.
(B)  Restricting women to household chores.
(C)  Providing more rights to men.
(D)  Providing voting rights equally to men and women.

18. Choose the correctly matched pair from the following : 1
(A) Concurrent List — Education
(B)  Concurrent List — Defence

(C) Concurrent List — Police
(D) Concurrent List — Trade

19. In which one of the following organs of India are women taking

advantage of reservation ? 1
(A)  Municipality (B) Legislative Council
(C) Rajya Sabha (D) Judiciary

20. Which one of the following languages is included in the Eighth Schedule
of the Indian Constitution ? 1
(A)  Bhojpuri (B) Magadhi
(C) Rajasthani (D) Tamil
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(et erg-Iwda ) (4x2=8)
21. (%) & Har I fopedl 3 famiwaret v aviw AR | 2
areraT
(@) a9 gar T fohegi 1 forRIaraedl T Juid i | 2
22, WA % Ha¥ ¥ T o &St forawor St Svrareiictar st samesT i | 2
23. Y 1991 o TRY H WRA TR A YT AT A § s afteredq fobw 2 wse hifs 1 2
24. WA W YW oz Ig o Tl &1 Snriier quTel bt Seoi@ hIST | 2
TUE T
(GREEERED)) (5x3=15)
25. lhad g YR U STieET, [SFeR 37T 99 I ot TATYAT hdl & 2 ATl
T | 3
26. ST WG H STl ST&0T o oI S B STt fobeel i ToITerit a7 i shitorg | 3
27. T o wrerw o w9 751 o fohgl i T ol s it | 3
28. WA WU 5 3R TS GEHAT o HEA TRAAT % SedN Hi Fhd TR gHRed
AT & ? STEAT hIT | 3
29. (%) WA wcAar gud W ie-teT aWeita o et s farveor Sifs | 3
areraT

(@) wRdT T Sieier § ool dawm TS 6t qfierr & fovewor v | 3

CUCR)
3T av) (4x5=20)

30. (%) YNGH YT W FE70 W & forw fiufafies TR g7 33 Y Fent i
SATEAT I T Ik AT eI UX IS THTET o fageiyor hifsre | 3+2=5

YT

(@) 181 weredl § U@ T qE0 hl 7% faaredt & Iqwa § fhE TR AreE
e 2 T =i | 5
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SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. (a) Describe any two features of ‘arid soils’. 2
OR
(b)  Describe any two features of ‘forest soils’. 2
22. Explain the effectiveness of horizontal distribution of power in the
context of India. 2
23. What changes did the Government of India make in its economic policies
in the beginning of 1991 ? Explain. 2
24. Mention any two economic impacts of the First World War on India. 2
SECTION C
(Short Answer Type Questions) (6x3=15)
25. How does democracy establish an accountable, responsible and legitimate
governance ? Explain. 3
26. Describe any three ways of water conservation used in ancient India. 3
27. Explain any three functions of money as a medium of exchange. 3
28. How does the Indian Constitution ensure the division of powers between
the Union and State Governments ? Explain. 3
29. (a) Analyse the impacts of Gandhi-Irwin pact on the Indian freedom
struggle. 3
OR
(b)  Analyse the role of Alluri Sitaram Raju in the Indian National
Movement. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
30. (a) Explain the measures taken by the colonial government to censor
the press in India and analyse their effects on the nationalist
movement. 3+2=5
OR
(b) How did the printing press contribute to the emergence of new
genres of writing in the 18th century ? Explain. 5
I 32/3/2 Page 15 of 23 P.T.O. I



31. (%) FAIaEAT & HEsh v Sl & T Seretn died iat e Hif | 5
3t
(@) == S S S e % wee § | e sfdied USTR % geH eq
A HH-F g <7 o arefior g & fenfiat it sisemd 6 g
T 6T ST T ? 5
32. (%) G GIHR A HY % & § qoh-i1eh! AT o] TS el I AL 6T € |
THR I U Fohedl i qepriiehl oRT 1 GTa AN S Y o Iea 7
eI & | 5
roraT
(@) | AT T Tk fRE § | 1T I W = S @t T 9red © | O e
T siniferer gt 1 aviT HIfT S ara & =9 i Sdt 7 geEes e v

W o &I @ =1 3cq1eeh UsAl o A1 faRa | 3+2=5
33. (%) “omfRoHar IRAE Sioam H g @ e 1 maEE A g AT 5
ST
(@) = T Al GHEAT ! AT HH 8 H1 qi= 30T FATT | 5
LG e
(hE/ETA-ATHTHE T9) (3x4=12)
34. fou uw g = ufew 3 U i few Tu et & s i
Gfea ek

T TITST &AFk T 1T hdl & | TS &k H o ITH AUYAT 1 -TAH
o1 & STl TS skt wrafer i Bt @ i safere & o o giHivea wm
BT 8 | I & R ENT USishd I & AR 3 it et we fafwmt w6
A FET BT € | 1 et @ [t a1 s ke S — s
aﬁqﬁm A AN AT, FegEH A, TR T TidssH s,
Sﬂﬁﬁmmwélsﬁm & %Sd%dﬂll%wwm
W@Wﬁ%ﬁmélﬁﬁwaﬁv%ﬁ@%mﬁﬁﬁﬁﬁ@ﬁmém
HH F Ghd 8, T 3o ol T A TR ¥ e USiiehd HUAT BT & 3R
et we farfaemt s STuTe e g 2 |

(34.1) TS &Aeh hl S gl Y foredt wen forsiwar o1 Ieai@ Hifsig | 1
(34.2) GTSA &k o HHTT bl e g1 o ater forelt T a1y i T
FHifrT | 1

(34.3) T-USTIR H S[¢ g Gt AT ol G o GHET TS0 ST 1 STARF § 2 2
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31. (a) Distinguish between public and private sector of economy with
examples. 5

OR

(b)  Suppose you are the Sarpanch of your village. What suggestions
will you give for creating additional employment in the village, so
that the problem of unemployment of the residents of rural areas
can be reduced ? 5
32. (a) The Government of India has invited some suggestions for
technological reforms in agriculture. Propose any five technological
reforms to the Government for the betterment of agriculture. 5
OR
(b)  Suppose you are a farmer. You want to cultivate tea in India.
Describe any three geographical conditions which will be conducive
for tea cultivation in India and write the names of two major

tea-producing states of India. 3+2=5

33. (a) “Secularism is the very idea of Indian Constitution.” Justify the
statement. 5

OR

(b)  Suggest any five measures to establish the gender equality of

labour. 5
SECTION E

(Case/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

Organised Sector

Kanta works in the organised sector. Organised sector covers those
enterprises or places of work where the terms of employment are regular
and therefore, people have assured work. They are registered by the
government and have to follow its rules and regulations which are given
in various laws such as the Factories Act, Minimum Wages Act, Payment
of Gratuity Act, Shops and Establishments Act, etc. It is called Organised
Sector because it has some formal processes and procedures. Some of
these people may not be employed by anyone but may work on their own,
but they too have to register themselves with the government and follow
the rules and regulations.
(34.1) Mention any one feature of the working conditions of organised

sector. 1
(34.2) Explain any one benefit provided by the employers to the

organised sector employees. 1
(34.3) Why is it necessary for all self-employed people to register with the

government ? 2
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35. fdu T @q = ufgu oK U A= fu U gwAt & 3 i
ThifdehTT

1815 % W1 & a9l § GHT & W 4 3 ISNATGI-Teganiedl i qfHTa
foa | sga W O TsAr  swifdeRTEr w SRiE S SR foem # e w0
% U T @MeT I AT | 3@ WA HITAERT BN 1 AdAs 3T TSI
FEATST T oY 3 T of S foar i3 & o1g wonfuq & 78 off | =y &
AT 3R AqfE & T Tiderg 8T S o ST Hifdeprl 8 % g ST o |
SATETAT Shifdeh it TSE-TSAT oht TATOAT sl AR & 30 oy o1 Aard fewm
M o |

(35.1) SERATET ohY fereft Weh Tiifdeh AT T ot ehifTT |
(35.2) U TAT H T HISHAT % I8 o Y@ HRUT Hl It iy |

(35.3) 1815 & W13 Ieh ISWATGI-USZATCAT & H{WTd B % SR 1 fageisor
ife |

36. U U Hid = ufer K 3Ek A= oy T gwHt % I AN
g ATEh

e 3T T ARG Wi & qor 3fenfies ok it I @ | wra &
e 31 & fouer Hered faeme € | IR 39 I % ARREE die 3Tk §
gt B | BT FaT YR hT Silg 319%h & S 70 fderd <igier 3= °ET §
T ST 8 | §OH FAAS b 0T8I ©, W fEd SEn 6 Ry w9 8 Swnd
& | THeTEE WAl HewEqyl SNl |ig 3T § foraeR! JAfekan 7T § 3w
33T 7, Foh SOd QETeT ot W Serse T e S-Ht N At € (38 arer
50 ¥ 60 JfeId dh 9T AT ) | 9¥ 2018 — 19 W g TIh HT AT T
IR (97%) A, TG, Fieh IR FRES ¥ T AT | WY eared
(3%) = TAT | AT T |

(36.1) TohE ltg 3TIEh | U AR ITIT SITaT & 2
(36.2) FATeeh WeweqUl T T ST HIF-A1 8 2
(36.3) “THIE 7T Teh AT WS @ |” 39 HuA hl I¥ I |
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35. Read the given source and answer the questions that follow :

The Revolutionaries

During the years following 1815, the fear of repression drove many
liberal-nationalists underground. Secret societies sprang up in many
European states to train revolutionaries and spread their ideas. To be
revolutionary at this time meant a commitment to oppose monarchical
forms that had been established after the Vienna Congress, and to fight
for liberty and freedom. Most of these revolutionaries also saw the
creation of nation-states as a necessary part of this struggle for freedom.

(35.1) Mention any one political demand of the liberals. 1

(35.2) Mention the main cause for the rise of secret societies in European
States. 1

(35.3) Analyse the reasons for many liberal-nationalists going

underground after 1815. 2

36. Read the given source and answer the questions that follow :

Iron Ore

Iron ore is the basic mineral and the backbone of industrial
development. India is endowed with fairly abundant resources of iron ore.
India is rich in good quality iron ores. Magnetite is the finest iron ore
with a very high content of iron up to 70 per cent. It has excellent
magnetic qualities, especially valuable in the electrical industry.
Hematite ore is the most important industrial iron ore in terms of the
quantity used, but has a slightly lower iron content than magnetite
(50 — 60 per cent). In 2018 — 19, almost the entire production of iron ore
(97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.
The remaining production (3%) was from other states.

(36.1) In which iron ore is the maximum iron content found ? 1
(36.2) Which is the most important industrial iron ore ? 1
(36.3) “Iron ore is a basic mineral.” Support the statement. 2
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(AT o I9TeA-SATHTRE T9+T) (2+3=5)
37. (%) WRA & fU TC qHifTw Wr-AERE (58 23 W), § 3 TIET & A’ 37K
B % &9 § Afha frar mar 7 | Fefafas smed i agmar @ 3=
JEETHT 3R 3 T8t T 31 qHIT Tt 78 et w faiau 2x1=2
A. I SN SR 1927 § IR TS i 1 SATTERM 3T T |
B. 9% T T8l HETcHT et ¥ =Heh I dsT o |
e : (HEfIad Yo7 Fae grEaTtea qaenieral & fo7q Yo7 €&1 37 () & T W 3 |
(F) () 9 @WHE & 99 fafeu F@F 1927 ¥ 9T T SO @@
SIS g7 o7 |

(i) 39 T 1 T fARaw STt At et 7 FHe I arst o | 2x1=2

(@) wra % 36t TeHifaess Wramfe |, fefafed & @ fel @7 & suged
forgt @ ewiise 3t 96 W fafau - 3x1=3
1) ufEr STTeT T ek STaUise gamg U
(ii) ik T Uoh HFCAIL SoHTATSIT TTeh
(i)  weEwrse § ferd ue onfvees Seit w9
(iv)  3TfeT o1 Ueh T et ueH
e ; fEfcTad Y7 Faa gieaTtaa adenferal & forg y7 &1 37 (@) & T WE |

(@) fordl a7 et & s fafae | 3x1=3
() 38 wE % 9w faRey St ufgm dner ¥ uE Sl gars ue
Efd R |
(i) 39 M & A0 AU S&f FAicsh § T GRS Teh
Efd R |

(i) 39 TN H1 TH frRau ST qenrse # U ATivaeh Seil G397 AR # |
(iv) 38T %1 AW fIRa Set e § U T 9 oo Hared & |
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress was
held place in 1927.

B. The place where Mahatma Gandhi broke the Salt Law.
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (a).

(a) (1) Name the place where the session of Indian National
Congress was held in 1927.

(i1) Name the place where Mahatma Gandhi broke the Salt Law. 2x1=2

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
1) An international airport of West Bengal
(i1) A software technology park of Karnataka
(iii)) A nuclear power plant located in Maharashtra
(iv) A major sea port of Odisha

Note : The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (b).

(b) Attempt any three questions. 3x1=3

(1) Name the place where an international airport is located in
West Bengal.

(i1) Name the place where a software technology park is located
in Karnataka.

(iii) Name the place where a nuclear power plant is located in
Maharashtra.

(iv) Name the place where a major sea port is located in Odisha.
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